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Aims of the course

This course is the core economics course for the MSc in Public Policy.  Students begin this course with levels of prior study of economics that range from degree level to close-to-zero.

The course aim, for the students with little experience in economics, is to introduce the core ideas economists use to analyse public policy (health policy, environmental policy, fiscal policy, social security policies etc). For these students, the aim is an introduction to "thinking like an economist", and the emphasis is on the essential conceptual and methodological toolkit needed to understand the economic approach to policy.  For students who have studied economics before, many of the key concepts will be familiar. For such students, the aim is to further their understanding of issues not always developed in depth in conventional undergraduate programmes - such as economics of the law and environmental economics.

The course will presume very limited mathematical background, although some knowledge of calculus will be useful (but not essential). The lectures will be verbal and diagrammatic, and will largely avoid formal mathematics.  The emphasis is on developing a good intuitive understanding of the economic issues.  Most of the reading should be accessible to students with a limited mathematical background.

Course outline

1. The market economy

2. Free trade versus protection

3. Externalities

4. Public goods:  efficiency, congestion, revelation

5. Valuation of non-market goods

6. Moral hazard and adverse selection

7. Income redistribution

8. Hazards, liability, tort

9. Tax incidence and the efficiency cost of taxation

10. Fiscal and regulatory enforcement

Reading

There is no one text covering the material of the course.  About half the topics in the course are covered at a relatively straightforward level by chapters from Joseph E. Stiglitz (2000) Economics of the Public Sector.  The reading list gives suggestions of textbook chapters that may provide a useful background to the topics not covered by Stiglitz.

A wide range of other reading is suggested for each topic. Some more complex material is included for students with good prior knowledge of economics who want to develop topics in more depth.

Examination

The course will be examined by a three-hour written examination in two parts, each with half of the marks. Part A consists of questions requiring short, specific answers. Part B comprises more complex questions, requiring a longer and more structured answer. Candidates should answer four of the six questions in Part A, and one of the six questions in Part B. Further information on the examination, and a sample examination paper, can be found later in this document. 

Course home page
http://www.homepages.ucl.ac.uk/~uctpmwc/www/TEACHING/PPEA/New%20Outline.htm
Lecture 1, 1 October: Markets
Economists tend to define the proper role of government in terms of various forms of "Market Failure". Where market failures exist, there is a case for government intervention in the economy to correct these market failures, but in the absence of market failure, a competitive market economy maximizes economic welfare. Government intervention in this case is unnecessary, and could be damaging.
Market failure may arise from various sources: the presence of monopoly power, incomplete or asymmetric information, the presence of "externalities" or "public goods", etc. In addition, governments may have a role in promoting distributional objectives, such as the reduction of poverty or inequality. Some writers would count such redistributive policies as correcting a further market failure; other writers would treat the pursuit of distributional equity as a separate justification for government intervention in the economy.

Much of this lecture course is concerned with various kinds of market failure, and the forms of government policy intervention that may be appropriate to deal with the problems they create. As an essential background to this, the first two lectures look at circumstances where markets work well. We discus the way in which economic analysis looks at market behaviour, and the particular sense in which the outcome of a competitive market economy maximizes the economic welfare of society as a whole.

A central result is the First Fundamental Theorem of Welfare Economics, which, loosely stated, asserts that if there are competitive markets for all resources used in production and for all commodities valued by individuals, then the economic outcome, or "equilibrium", will be efficient (or "Pareto optimal").  This is our first piece of evidence in an understanding the value and limitations of the market system as a form of economic organisation.

Key concepts

Utility-maximization, marginal utility, marginal rate of substitution, economic welfare, efficiency, Pareto optimality, profit-maximization, perfect competition, transaction costs, price mechanism.
Reading
Joseph E Stiglitz (2000) Economics of the Public Sector, Norton. Chapter 3. Market Efficiency; Chapter 4. Market failure; Chapter 5 Efficiency and equity

F. Hayek (1945) "The Use of Knowledge in Society", American Economic Review, vol 35, pp 519-30

Wilfred Beckerman  (1989)  "How Large a Public Sector?" in Dieter Helm (ed) The Economic Borders of the State, pp 66-91. Oxford University Press.

Paul Milgrom and John Roberts (1992) Economics, Organization and Management, Prentice Hall. Chapter 2 "Economic organization and efficiency", Chapter 3 "Using prices for coordination and efficiency", Chapter 4 "Coordinating plans and action".

Questions for discussion

1.
Do firms maximise profits? Is this a factual claim about the decision-making process within firms, or an observation about the outcome of natural selection in a market economy?

2.
"The claim that rational individuals behave so as to maximise their utility is tautological". Is it conceivable that individuals could behave in a way that does not maximise their utility?

3.
Is "altruistic" behaviour compatible with the assertion that individuals maximise their utility?

4.
Is "Pareto optimality" the right yardstick for identifying a socially-optimal outcome?

5.
What do we learn about the value and limitations of the market mechanism from the following observation?

"If there really were some basic intrinsic advantage to a system which employed prices as planning instruments, we would expect to observe many organizations operating with this mode of control, especially among multidivisional business firms in a competitive environment. Yet the allocation of resources within private companies (not to mention governmental or non-profit organizations) is almost never controlled by setting administered transfer prices on commodities and letting self-interested profit maximization do the rest. The price system as an allocator of internal resources does not pass the market test". (Martin Weitzman, "Prices versus Quantities" Review of Economic Studies, 1974)

Lecture 2, 8 October: Free trade versus protection

What are the implications of our results on markets for international trade?  Should free trade occur and when is there a case for trade protection?  We review the "new trade theory" arguments that could justify trade protection: the "optimal tariff" argument, the "infant industry" argument, employment arguments, and the strategic arguments.
Key concepts

Opportunity cost, comparative advantage, specialization, consumer surplus, producer surplus, economic rent, deadweight loss, tariff, trade quota, non-tariff barrier, optimal tariff, trade liberalization, imperfect competition, customs union

Readings
(a)
Textbook treatments

David Begg, Stanley Fischer and Rudiger Dornbusch (2000) Economics, McGraw-Hill, Sixth edition, Chapter 33, "International Trade and Commercial Policy".

David Miles and Andrew Scott (2002) Macroeconomics. Understanding the Wealth of Nations. New York: John Wiley and Sons Inc. Chapter 9, "International Trade".

Debraj Ray (1998) Development Economics, Priceton University Press. Chapter 16 "International Trade", Chapter 17 "Trade Policy", Chapter 18 "Multilateral approaches to trade policy"

L. Alan Winters (1991) International Economics, Harper Collins, Fourth Edition, Chapter 2 "Comparative Costs and International trade" is a somewhat more complex account of comparative advantage than in Begg/Fischer/Dornbusch or Miles/Scott. Chapter 7 to 12 analyse trade protection. Chapter 12 is an interesting discussion of the political economy of trade protection.

(b)
Policy issues and arguments

Jagdish Bhagwati (2002)  Free Trade Today, Princeton and Oxford: Princeton University Press.

Robert C Feenstra (1992) "How costly is protectionism?" Journal of Economic Perspectives, Vol 6, No 3,  pp 159-178.

Robert E Baldwin (1989) "The political economy of trade policy" Journal of Economic Perspectives, Vol 3, No 4,  pp 119-135

Paul R Krugman (1987) "Is Free Trade Passé?" Journal of Economic Perspectives, Vol 1, No 2,  pp 131-144.

Richard B Freeeman (1995) "Are your wages set in Beijing?" Journal of Economic Perspectives, Vol 9,  3,  p 15-32

Rudiger Dornbusch (1992) "The case for trade liberalization in developing countries" Journal of Economic Perspectives, Vol 6, No 1,  pp 69-85

Dani Rodrik (1992) "The limits of trade policy reform in developing countries" Journal of Economic Perspectives, Vol 6, No 1,  pp 87-105.
(c)
More advanced material

Robert M Stern (1973) "Tariffs and other measures of trade control: a survey of recent developments" Journal of Economic Literature, Vol XI,  pp 857-888

Questions for discussion

1.
The welfare analysis of free trade makes the crucial assumption of full employment. Does this mean that its conclusions are inapplicable to an economy where some people are unemployed?

2.
Dos the rapid growth of the South East Asian "tiger" economies (South Korea, Singapore, Taiwan, Hong Kong)  show the strength of the infant industry case for trade protection.

3.
Why do countries need to negotiate multilateral tariff reductions if unilateral free trade is actually in their interests?

4.
"Free trade, one of the greatest blessings which a government can confer on a people, is in almost every country unpopular." Thomas Babington, Lord Macaulay (1800-1859).  Why should this be so?


Lecture 3, 15 October: Externalities

A large number of environmental problems involve externalities.  Examples are: the human health effects from lead emissions by motor vehicles, the nuisance caused to local residents by aircraft noise at airports, the various social and economic consequences of climate change due to "greenhouse gas" emissions. 
If there are no externalities, and given certain other conditions, an unregulated, perfectly‑competitive market economy may achieve the socially‑optimal ("efficient") outcome.  If externalities are present, however, the outcome from an unregulated market economy may fall short of the social optimum.  We will set out a formal model in which an externality leads to an inefficient, sub‑optimal, outcome.  We will then go on to consider some cases where an efficient solution might be possible even where externalities are present.

Recent policy innovations have included greater use of "market mechanisms" such as pollution taxes and tradeable permits for controlling environmental damage.  We will discuss the advantages and disadvantages of employing such instruments compared with conventional regulatory policies.

A key paper by Coase (1960) argues that bargaining between individuals will achieve efficient solutions to externality‑type problems, if property rights are clearly defined.  We will consider the circumstances in which the "Coase theorem" holds.
Key concepts

Externality, Coase theorem, information asymmetry, transaction costs, "market mechanisms", Pigovian tax, tradeable permits, "command and control", marginal abatement cost

Reading

(a)
Textbooks

Joseph E Stiglitz (2000) Economics of the Public Sector, Norton.  Chapter 9  Externalities and the Environment

Varian, HR (1987) Intermediate Microeconomics. A Modern Approach, New York and London: Norton, Chapter 31 "Externalities".

Gravelle and Rees, Microeconomics, second edition, London and New York: Longman. Chapter 18 "Market failure and the second best"
(b)
Externality

W J Baumol and W E Oates, The Theory of Environmental Policy, Second Edition, Cambridge University Press, Cambridge 1988.  Chapters 2 and 3.

(c)
Coase Theorem

R. Coase (1960), "The problem of social cost" Journal of Law and Economics, vol 3, pp 1-44.

Cooter RD and Ulen (1996) Law and Economics, second edition

Stephen, FH (1988), The Economics of the Law, Brighton, Wheatsheaf Books. Chapter 3, "The Coase Theorem".

Joseph Farrell (1987) "Information and the Coase Theorem" Journal of Economic Perspectives, Vol 1, No 2,  pp 113-129

Paul Milgrom and John Roberts (1992) Economics, Organization and Management, Prentice Hall. Chapter 9 "Ownership and property rights".

Questions for discussion

1.
How much should we spend on pollution control? Is it worth reducing pollution to zero, or is some level of pollution "economically-efficient".

2.
Are "market mechanisms" better than "command and control"?

3.
Should we use the money raised by environmental taxes to compensate the victims of pollution?

4.
Could we ever rely on the Coase theorem to achieve adequate levels of pollution control?

5.
In what sense does traffic congestion constitute an externality? What would be the efficient level of control of the traffic congestion externality, and to what extent might efficient control of this externality conflict with considerations of equity or justice?

Lecture 4, 22 October: Public goods:  efficiency, congestion, revelation
Public Goods are goods with two properties, "non-rivalry" and "non-excludability". Non excludability has the effect that the good cannot be provided by the normal private-sector mechanism of limiting consumption to those who pay for it, while non-rivalry implies that it would be socially-undesirable to limit consumption in this way. Goods exhibiting congestion are goods that exhibit increasing rivalry as the number of consumers increases (e.g. art galleries, seaside beaches, road-space etc).

A key idea is the idea of the "prisoner's dilemma" ‑ even though it may be in everyone's interest that cooperation should take place to provide public goods, it may be in no‑one's individual interest to cooperate.
This leads us to think more generally about the problems of information, and the obstacles they place in the way of optimal provision of public goods.  We discuss some of the "preference revelation" mechanisms (including the Clarke/Groves/Ledyard mechanisms and Lindahl prices) which have been suggested as ways to obtain accurate information about individual preferences, uncontaminated by incentives for various types of "strategic" response.
Key concepts
Public goods, private goods, non-rivalry, non-excludability, congestion, free-rider, Samuelson condition, preference revelation.
Reading

Joseph E Stiglitz (2000) Economics of the Public Sector, Norton. Chapter 6. Public Goods and Publicly-Provided Private Goods; Chapter 7. Public Choice

Varian, HR (1987) Intermediate Microeconomics. A Modern Approach, New York and London: Norton, Chapter 32 "Public goods".

Mueller, DC (1979) Public choice, Cambridge University Press. Chapter 4, "Some new processes for revealing preferences on public goods".

Cornes R and Sandler T, (1986) The Theory of Externalities, Public Goods and Club Goods, Cambridge University Press. Chapter 6, "Alternative mechanisms for the provision of public goods"
Questions for discussion

1.
What are the principal categories of public spending that consist of the provision of "public goods"?

2.
Are there examples of public goods which are privately-provided, and if so, how does this come about?

3.
Should the tolls on the Skye road bridge be scrapped?

4.
What, if anything, is wrong with deciding whether a public good should be provided or not by a simple majority vote?


Lecture 5, 29 October: Valuation of non-market goods
Some things of value (oil, labour time, bread, housing) are traded, and their prices can be used as a measure of economic value. Other things of value (clean air, safe streets, national defense, human life and health) are not traded in a market, and their value cannot be inferred from market prices. Public decision-makers often have to weigh up costs and benefits of a particular policy option, even where some of these comprise non-market goods. How can we assign values to non-market goods?
A variety of techniques for uncovering willingness-to-pay for non-market goods such as environmental quality will be discussed. There are two broad approaches: hypothetical and revealed-preference techniques. The former includes "contingent valuation" and "choice experiments". The latter includes "hedonic" analyses and travel cost" methods. These techniques are explained and their relative merits assessed.
Key concepts

Contingent valuation, willingness-to-pay, willingness-to-accept, use-value, non-use value, hedonic prices, value of a statistical life, regression analysis, QALY

Reading

Joseph E Stiglitz (2000) Economics of the Public Sector, Norton. Chapter 11. Cost-benefit Analysis

Per-Olov Johansson (1990) "Valuing Environmental Damage" Oxford Review of Economic Policy, Vol 6, No 1, pp 34-50

Charles D. Kolstad, (2000)  Environmental Economics. Oxford University Press. Chapter 16: "Hedonic Price methods". Chapter 18 "Constructed markets". 

Jean-Philippe Barde and David W Pearce (1991) Valuing the Environment. Six Case Studies.  Earthscan Publications. Chapter 6. "The United Kingdom".

Symposium on Contingent Valuation, Journal of Economic Perspectives, 1994, Vol 8, No 4,  pp 3-64.

Michael Jones-Lee (1990) "The value of transport safety" Oxford Review of Economic Policy, Vol 6, No 2, pp39-60

Questions for discussion

1.
"A cynic [is someone who] knows the price of everything and the value of nothing." (Oscar Wilde in "Lady Windermere's Fan") Do economists' efforts to estimate the value of environmental quality by inference from market transactions merely prove that the same is true of economists, or the reverse?

2.
If it is illegitimate to "put a price on human life" by estimating the value of a statistical life, how should policy-makers decide how much to spend on improving railway safety?

3.
Would you give honest answers to a contingent valuation survey? Could you give precise answers? If not, why not?

4.
If you asked people to state their willingness-to-pay for private goods, would you expect their answers to coincide with the prices we observe them paying in market transactions?


Lecture 6, 12 November: Moral hazard and adverse selection
Some components of the "welfare state" function as a form of insurance. This lecture looks at the economic reasons underpinning these forms of public provision. It focuses on issues of market failure in private insurance markets, arising from two phenomena, moral hazard and adverse selection.
Key concepts

Moral hazard, adverse selection, actuarially-fair insurance, pooling equilibrium, separating equilibrium, deductibles, experience-rating

Reading

Joseph E Stiglitz (2000) Economics of the Public Sector, Norton. Chapter 14. Social Insurance

Nicholas Barr (1998) The Economics of the Welfare State, Oxford University Prerss. Third edition. Chapter 5 "Economic theory 2: Insurance", Chapter 8 "Contributory benefits 1: Unemployment, sickness and disability"

Tim Besley (1991) "The demand for health care and health insurance", in Alistair McGuire, Paul Fenn and Kenneth Mayhew (eds) Providing Health Care. The Economics of Alternative Systems of Finance and Delivery, pp 46-64, Oxford University Press.

Nicholas Barr (1992) "Economic Theory and the Welfare State: A survey and interpretation" Journal of Economic Literature, Vol XXX,  pp 741-803

Paul Milgrom and John Roberts (1992) Economics, Organization and Management, Prentice Hall. Chapter 5 "Bounded rationality and private information", Chapter 6 "Moral hazard and performance incentives".

Questions for discussion

1.
How do motor insurers limit their vulnerability to moral hazard and adverse selection?

2.
Does employer-provided health insurance reduce the problems of moral hazard and adverse selection that arise if health insurance is purchased by individuals? 

3.
Social security support for unemployed people (in the UK formerly Unemployment Benefit, now Job Seeker's Allowance)is funded from earnings-related National Insurance Contributions. What would be the implications of replacing this system with a requirement for working individuals to take out private insurance against the risk of unemployment?

4.
How will the increasing scope for genetic testing to assess an individual's risk of developing serious diseases in later life affect the feasibility and cost of individual insurance against future care costs?

Lecture 7, 19 November: Income redistribution
This lecture looks at the "distributional" role of the state in income redistribution and the alleviation of poverty. How do such activities conflict with the objective of economic efficiency? How can inequality, and the impact of policy on the distribution of income, be measured?

Key concepts

Equity: efficiency tradeoff, social welfare function, distribution of income, distribution of wealth, the distinction between inequality and poverty, Lorenz curves, Gini coefficient, equivalence scales, current and "lifetime" redistribution

Reading

Joseph E Stiglitz (2000) Economics of the Public Sector, Norton. Chapter 15. Welfare Programs and the Redistribution of Income

Julian Le Grand (1982) The Strategy of Equality. Redistribution and the Social Services. George Allen and Unwin. (especially Chapter 2 "The Dreamers")

Alissa Goodman, Paul Johnson and Steven Webb (1997) Inequality in the UK. Oxford University Press.

A B Atkinson (1983) The economics of inequality. Oxford: Clarendon Press.

Oxford Review of Economic Policy, Vol 12, No 1 (Spring 1996). "Inequality".

Debraj Ray (1998) Development Economics, Priceton University Press. Chapter 8 "Poverty and undernutrition"

Questions for discussion

1. Is the redistribution of income a legitimate function of government? Or is it just pork-barrel politics dressed up as morality?

2. Can we define a "poverty line" without reference to the general standard of living of the population?

3. Is taxation of inherited wealth the only effective mechanism for reducing inequality that does not have major and undesirable effects on work incentives?

4. Targeting redistributive policies on the basis of annual income leads to the same individual sometimes being a redistributive "gainer" and sometimes a redistributive "loser", as their income changes during the course of their lifetime. Is there any justification for governments to engage in this apparently pointless redistributive activity? 

Lecture 8, 26 November: Hazards, liability, tort

An important class of environmental problems are those involving an unpredictable outcome ‑ environmental hazards, such as the risk of contracting disease through exposure to asbestos at work, or losing the amenity value of a coastline through an oil‑spill from a tanker. What are the economic issues involved in efficient regulation of environmental hazards such as these?

One key issue has to do with the choice between two routes to controlling hazards: governments can either try to regulate the types of behaviour liable to give rise to hazards, or they can rely on the courts to provide an incentive for individuals and firms to avoid exposing others to hazards. In the latter case, the possibility of tort actions (being sued for compensation) after an accident has occurred gives individuals and firms an incentive to take care to reduce the risk of accidents taking place.  What are the circumstances in which policy should rely on tort actions to control hazards, and when should policy step in and regulate hazardous activities directly?

How should the legal system operate to achieve the most efficient outcomes: should an individual or firm who causes an accident always be liable to pay compensation ("strict liability"), or should they only be required to pay compensation when they have been negligent ("negligence rule")? What about incentives for appropriate behaviour by victims? Is there a conflict between efficient incentives, and the allocation of risk to parties most able to bear it?
Key concepts

Tort, strict liability, negligence, standard of due care, efficient level of precaution, distribution of risk 

Reading

(a)  textbook treatments

Cooter RD and Ulen, T (1996) Law and Economics, second edition. Chapter 8, "An economic theory of torts".

Charles D. Kolstad, (2000)  Environmental Economics. Chapter 12: "Risk and Uncertainty". Oxford University Press.

Stephen, FH (1988), The Economics of the Law, Brighton, Wheatsheaf Books. Chapter 7, "Tort".

(b)  policy papers

Symposium on the Economics of Liability, Journal of Economic Perspectives, Summer 1991, Vol 5, No 3, pp 3-136 (papers by Shapiro, Cooter, Viscusi and Menell)

Paul Burrows (1994) "Products Liability and the Control of Product Risk in the European Community", Oxford Review of Economic Policy, Vol 10, No 1, pp 68-83

(c)  economic theory papers

Shavell, S. (1980), "Strict liability versus negligence", Journal of Legal Studies, Vol 9, 1‑25.

Kolstad CD, Ulen TS, and Johnson GV, (1990), "Ex Post Liability for harm vs. Ex Ante Safety Regulation: Substitutes or Complements?", American Economic Review, vol 80, no 4, 888‑901.

Shavell, S. (1984), "A model of the optimal use of liability and safety regulation", Rand Journal of Economics, Vol 15, No 2, 271‑80.

Questions for discussion

1. When is ex ante regulation of risky activities better than ex post legal liability, and vice versa? Can you suggest some specific examples?

2. Under what circumstances is a system of tort law based on the negligence rule likely to lead to efficient incentives for precautionary activity?

3. Are there good reasons for the law to treat differently (i) liability for third-party harm, (ii) product liability and (iii) liability for workplace accidents?

4. What are the consequences of the "liability crisis"? What should be done about it?

5. In what ways does the availability of insurance against possible liability affect individual incentives for precaution against harm?

6. Would it be desirable to limit firms liability for damage caused by reckless use of their products through a principle of "contributory negligence"?


Lecture 9, 3 December: Tax incidence and the efficiency cost of taxation

What is the burden of taxation, and where is it borne? Taxation is required to pay for public expenditure, and an analysis of the overall distributional impact of public policies needs to take account the distributional "incidence" of both taxes and public spending. At first sight, the distribution of the tax burden might seem a fairly straightforward question, requiring only a knowledge of the pattern of tax liabilities across the population. However, the effective incidence of taxation - in other words, where the burden of taxation finally lies - requires is to account for the possibilities that taxes may be shifted through adjustments in the prices at which goods and factors of production are traded. In fact, the most startling result about tax incidence is the most basic: formal incidence (in the sense of who bears the legal liability to pay taxes) is irrelevant to final incidence.

The possibility that taxpayers may respond to the taxes they face gives rise to a second set of issues, concerning the "distortionary cost" of taxation. To the extent that people are induced to make changes in their behaviour for tax reasons, this imposes deadweight costs on the economy, over and above the shift of resources from taxpayers to the public sector. The magnitude of these distortionary costs involved in taxation is reflected in measures of the "marginal cost of public funds" (MCPF). The cost to the private sector of an additional pound raised in taxation may be of the order of £1.20 to £1.40.
Key concepts

"Formal" and "effective" tax incidence, tax shifting, tax capitalization, "direct" and "indirect" taxes, distortionary cost of taxation, marginal and average tax rates, progressive and regressive taxes, marginal cost of public funds

Reading

Joseph E Stiglitz (2000) Economics of the Public Sector, Norton.  Chapter 17. Introduction to taxation; Chapter 18.  Tax Incidence

J A Kay and M A King (1983) The British Tax System, Oxford University Press. Chapter 1 "The economics of taxation:  Some basic concepts", and Chapter 2 "The income tax schedule".

Questions for discussion

1. Who bears the final incidence of taxes levied on company assets and profits?

2. Henry George argued that taxation of land was the best tax base, because it caused least damage to the economy.  Was he right?

3. Under what circumstances would you expect(a) an income tax, and (b) a sales tax to have a progressive distributional incidence?

4. If the marginal cost of public funds exceeds 1, what does this imply for the desirable level of public spending?

5. The tax which finances local government in the UK has been changed twice over the past two decades. The long-standing local tax on the value of residential property ("domestic rates") was abolished by Mrs Thatcher's government and replaced with an individual-based tax (the "Community Charge", or "poll tax"). This in turn was replaced by a new tax, based broadly on property values (the "Council tax").  Would you expect these tax reforms to have affected the level of house prices in the UK. If so, exactly how, and when?

Lecture 10, 10 December: Enforcement of laws, regulations and tax compliance
This section of the course sets out an economic analysis of the enforcement of laws and regulations (e.g. environmental regulations), and the enforcement of taxes. The mere existence of a law or regulation restricting polluting emissions may not guarantee that polluters will comply with it, if they see some benefit to them from non‑compliance, and if they perceive little corresponding cost in terms of the sanctions for non‑compliance. Raising the sanctions for non‑compliance might be expected to increase the probability that polluters will comply with the law.

The costs involved in non‑compliance could be increased either by increasing the risk that non‑compliance will be detected (through greater enforcement effort, for example, by increasing the frequency of pollution monitoring and inspection), or by increasing the fines for offenders who are caught. What is the optimal balance between these two approaches to enforcement? Should be rely on high fines, or on a lot of monitoring? And are there strategies we can employ for monitoring which are likely to be more cost‑effective than simply randomly auditing each individual?

Key concepts
Tax evasion, tax avoidance, taxpayer compliance, random and targeted audits 

Reading

Anthony Heyes,  (1998) "Making things stick: enforcement and compliance". Oxford Review of Economic Policy, Vol 14, No 4, Winter 1998. Pages 50-63

Charles D. Kolstad, (2000)  Environmental Economics. Oxford University Press. Chapter 11: "Audits, enforcement and moral hazard". 

A Mitchell Polinsky and Steven Shavell (2000) "The Economic Theory of Public Enforcement of Law"  Journal of Economic Literature, Vol XXXVIII,  pp 45-76

James Andreoni, Brian Erard and Jonathan Feinstein (1998) "Tax Compliance" Journal of Economic Literature, Vol XXXVI,  pp 818-860

Questions for discussion

1. Should the authorities aim at achieving 100% compliance with environmental regulations?

2. If the yield from tax enforcement activities, in terms of unpaid tax recovered plus penalties, exceeds the cost of the resources spent on enforcement, is this money well-spent? 

3. Since resources spent on more intensive audit are costly, while the same deterrent effect can be achieved by increased fines and other penalties for non-compliance, why are penalties for breaches of environmental regulations so low? 
4. Are there better strategies for enforcement than random audit? 
Public Policy Economics and Analysis

Examination information
The course will be examined by a three-hour written examination.

The examination will consist of two parts. Each part accounts for half the total marks available for the examination, and you are advised to divide your time accordingly.

Part A aims to test the breadth of your knowledge of the material taught in the lecture course. There are six questions, from which four must be answered. There is therefore limited choice, but the questions in part 1 relate closely to the lecture material. If you have attended the lectures, and read the textbook readings covering the lecture material, you should be in a position to answer all of the questions on this part of the paper. The questions require short, specific answers. These questions may, for example, ask to you define or explain a particular concept, explain a diagram or equation, interpret some data, or give a brief answer in response to a specific question.  You should expect to devote no more than one hour and a half to Part A.

You can achieve full marks for Part 1 by giving a precise, clearly-explained answer to the questions set. You will not gain extra marks for material other than that needed to answer the question. Vague or imprecise answers, inadequately-captioned diagrams or graphs, and inadequate explanations for your answers will, however, be penalized heavily. 

Part B aims to test the depth of your understanding of the material, and your understanding of its context and implications. There are six questions in Part B, from which you should answer one. These questions will require longer answers, in which you will be expected to draw on the lecture material and your wider reading. You will be expected to demonstrate your ability to set out a logical, well-organised answer, drawing as appropriate on economic theory, relevant empirical evidence, and practical "real-world" knowledge.

You should not expect the questions in Part B simply to ask you to reproduce material from the lectures. You need to be able to contribute your own "added value" over and above the lecture material, in the form of your independent reading and thinking about the issues raised in the course.

The attached "sample" paper is provided as a guide to the format of the paper and the likely style of the questions.

Past years' examination papers are available through UCL library. However, you should note that before 2002-03 this course was taught by a different lecturer, and the syllabus and examination format were different. Past examination papers for years before 2002-03 are not a good guide to either the format or likely content of this year's examination.

Sample exam paper.

PUBLIC POLICY ECONOMICS AND ANALYSIS
Time allowed:   three hours

Answer four questions from Part A and one question from Part B. Each part has equal weight.

Part A.
1
Using a diagram or algebra, explain the "Samuelson condition" for the optimal provision of a public good.

2.
Define the concepts of the "formal" and "effective" incidence of a tax. Using a diagram, show how the effective incidence of a sales tax is divided between buyers and sellers of the good.

3.
In the context of insurance to cover the risk of future income loss through unemployment, explain how "adverse selection" may undermine the private insurance market.

4.
Consider a firm responsible for a hazardous production activity, which can reduce the risk of an accident by spending more on "precautions". Define the socially-optimal level of precautionary expenditure, and draw a diagram to show this. Explain the difference between systems of tort law based on "strict liability" and "negligence", and, using your diagram, discuss how far these two approaches would be able to achieve the socially optimal level of precaution.

5.
Consider a three-person economy, where individuals have the following true preferences regarding a public expenditure on abatement of a non-depletable externality (and the associated package of defined contributions to pay for the abatement expenditure).

	
	True preference value for undertaking abatement expenditure, compared with no control (£)

	Person A
	+300

	Person B
	-550

	Person C
	+400


Explain how the Clarke-Groves mechanism could be used to elicit accurate information about voters' preferences regarding the public abatement decision, and calculate for each individual the Clarke-Groves tax that would be charged, and the total revenues that would be raised from the Clarke-Groves mechanism. Explain the problem that arises when revenues are raised as a result of the operation of the Clarke Groves mechanism.

6.
Consider two firms which, between them, are required to achieve a given reduction in polluting emissions M, and which have different marginal abatement cost schedules. What condition defines the optimal division of responsibility for abatement between the two firms? Draw a diagram to show the efficiency gain from this optimal pattern of abatement, compared with a command-and-control policy requiring equal abatement from the two sources.

Part B.
7.
Discuss the optimal level of enforcement of tax compliance, when the regulator is able to vary frequency of random audit of taxpayers, and can also vary the punishment (the fine) imposed if the random audit reveals tax evasion.

Describe how it might be possible to reduce the total costs of achieving a given level of compliance by adopting an investigation strategy other than random audit.

8
Explain what is meant by the "Coase Theorem". What are the assumptions required for the Coase Theorem to hold? Explain how and why the theorem may break down when these assumptions do not hold. Which of the assumptions are, in your view, the most serious limitations on the applicability of the theorem to environmental problems?

9.
How far can a system of health care based solely on the individual purchase of insurance from private-sector insurers achieve efficient levels of individual protection against the risk of future health care costs? Describe and evaluate some of the mechanisms which private-sector insurers can use to reduce the problems which you identify. How far are group policies (insurance policies taken out by an employer to cover the health costs of all their employees) better able than individual insurance to achieve full insurance coverage among the working-age population? Can you suggest any problems that employer-provided insurance might, in turn, cause?

10.
To protect its domestic steel industry, the US imposed tariffs on imports of steel from EU and other sources in 2002. In response, the European Union threatened to impose tariffs on a range of European imports from the US. Late in 2003 the dispute was settled when the US announced that it was to discontinue the steel import tariffs.

Set out and explain a diagram showing the welfare effects of a tariff, clearly distinguishing between the impact on producer and consumer interests, and the overall welfare effect. How far is your analysis relevant to understanding (a) the motivations for the US to impose tariffs on steel imports, (b) the overall economic consequences of imposing a tariff on steel imports to the US, and (c) the economic consequences for the European countries of imposing tariffs on other goods in retaliation? In each case (a) to (c) explain carefully any additional economic considerations, beyond those reflected in your diagram, that may be relevant.
11.
Explain the difference between "current income" and "lifetime income" perspectives on income redistribution. What arguments might justify public policy measures which redistribute individual consumption over the life cycle?

12.
The UK government's recent proposals for university "Top-up Fees" were accompanied by provisions for students from poorer households to receive financial assistance with these fees. Assume this financial assistance will be paid after some form of financial means test. What would be the consequences of means-testing university fees in this way for public policy objectives of (a) equity and (b) economic efficiency? Assess the tradeoffs involved.
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Tutorial class and coursework arrangements: Autumn 2006
Required coursework

· Preparation of answers to the short-answer questions in advance of each tutorial class, as the basis for class discussion. These do not need to be fully written-out (except where you are submitting the answers for marking as one of your two required pieces of written work), but you should be prepared to discuss your answer in class. 

· In addition, two pieces of written work on different topics should be submitted to your tutorial class teacher for marking. At least one of these should be an essay (selected from the list at the end of this document). The other may be a second essay, or alternatively a set of written-out answers to the set of short answer questions for one topic. 

Note that the coursework grades do not count in the final assessment, and are provided for guidance only.

Deadlines
At least one piece of written coursework should be submitted to your tutorial class teacher by the end of week 7 (i.e. before 11 November). Both must have been submitted by the end of week 11 (ie 9 December).

Length and style
In the written coursework, you should aim to give a clear and direct answer to the questions which are set, making appropriate use of the economic concepts and methods which have been covered in the lectures and in the reading list.

The essays have a word limit of 1500 words, and this limit should not be exceeded. It is designed to encourage clear and concise exposition, and to require you to consider carefully the relevance of the material you include in your answer. Distinguishing relevant from irrelevant arguments is an important skill, and inclusion of material which is irrelevant to the question will be penalised both in the marking of the coursework and in the final examination for the course.

Coursework submitted for marking may be typed/word-processed (double-spaced), or (clearly!) hand-written.  In either case, you should leave a large (5cm) left-hand margin, and a substantial margin (again of at least 5cm) at the foot of each page, so that there is space for written feedback in the form of comments and corrections.

Diagrams should be drawn clearly and precisely, and labelled fully and accurately. Please draw diagrams in pencil, so that you can correct any mistakes neatly, and please use a ruler for any straight lines. Diagrams should be large enough to be clearly labelled, and as a general rule of thumb should not be smaller than half an A4 page in size. Small, cramped postage-stamp sized diagrams, with imprecise lines and inadequate captions and labels will put you at risk of losing substantial marks in the examination, if the examiner cannot see clearly whether the diagram is correctly drawn!

Tutorial class 1:  Free trade and protection

Short-answer questions  (for preparation before the class)

S1.1
Using different numbers from those employed in the lecture, explain the principle of comparative advantage, using a 2-good 2-country example. Show the range of possible rates of exchange at which the two countries can gain from trade. Show, and explain, a case where both countries gain from trade despite one country being less efficient in producing both goods.

S1.2
Draw and explain a diagram to show the effect on economic welfare of a tariff imposed on import of a single good  by a small country.

S1.3
What arguments might justify the use of some level of trade protection, and in what circumstances? 

Tutorial class 2:  Externalities

Short-answer questions  (for preparation before the class)

S2.1
Draw and explain a diagram to show the optimal level of pollution abatement..

S2.2
Coase discusses the case of Sturges v. Bridgman (English Chancery Division Court, 1987). This case concerns a confectioner who had a long-established business in premises in Wigmore Street, which used noisy machinery (mortars and pestles). A doctor moved into neighbouring premises, and then, some time later, constructed a consulting room at the bottom of his garden, next to the confectioner's premises. He found that the noise and vibration from the confectioner's machinery made it impossible for him to use the consulting room. He applied for (and was granted) an injunction against the confectioner, to prevent him operating his noisy machinery.
Draw a diagram to show the efficient resolution of the conflict between the doctor and the confectioner.

What are the limits on the possible efficient bargains that could be reached between the doctor and the confectioner following the court's decision? If instead the confectioner had been awarded the right to continue to operate the noisy machinery, what possible bargains could the doctor have offered the confectioner?

S2.3
Draw and explain a diagram to show the cost-minimising division of abatement between two polluters with different marginal abatement costs, in a situation where there is a fixed total abatement requirement, and where the emissions from the two sources are uniformly-mixed. Show on your diagram the efficiency loss if each polluter is required to contribute half the total required abatement.  How far is this a good indication of the efficiency loss from "command-and-control" regulation, as compared with regulation using a market mechanism?

Tutorial class 3: Public goods
Short-answer questions  (for preparation before the class)

S3.1
Define a "public good", and give two examples of (a) a public good, (b)  a private good currently provided by government  (in any country with which you are familiar), and (c) a public good subject to congestion.

S3.2
State the "Samuelson condition" for the optimal provision of a public good, and explain how it differs from the corresponding condition for optimal provision of a private good.
S3.3
The table below shows true individual preferences for a proposition concerning the provision of a particular public good, in an economy with five individuals. The proposition to which these preferences refer consists of provision of the public good, together with the associated additional taxation to cover its costs, and it is assumed that all individuals fully understand the incidence of this additional taxation. Individual preferences are private information.

The Clarke-Groves demand-revealing process is to be used as the basis for deciding whether or not this public good is to be provided. Explain how the Clarke-Groves mechanism works, and calculate (a) the option which will maximise the society's welfare, and the net total welfare gain to society from the choice of this option compared with the alternative; and (b) the amount of the Clarke-Groves tax (if any) that would be charged to each individual.

Explain why voter D has no incentive to overstate her preference for the public good under the Clarke Groves procedure, even though to do so could change the public decision to the option that she favours.

	Individual
	Preferences in favour of proposition (dollars)
	Preferences against proposition (dollars)

	A
	150
	

	B
	200
	

	C
	300
	

	D
	
	300

	E
	
	200


Tutorial class 4:  Valuation of non-market goods

Short-answer questions (for preparation before the class)

S4.1
What is meant by "contingent valuation"? Illustrate your definition with a (made-up) example of a possible contingent valuation question for a proposed environmental improvement. Does your illustrative question conform to the guidelines of the NOAA Panel?
S4.2
Explain how house prices might be used in a hedonic price analysis to measure the benefits of  policy measures to reduce the level of aircraft noise.

S4.3
Explain how compensating wage differentials might be used to infer the value that individuals place on their own life. How far - if at all - does this approach to estimating the value of a statistical life reflect the pain and suffering of family members and friends that would follow the death of a particular individual? 

Tutorial class 5: Moral hazard and adverse selection

Short-answer questions  (for preparation before the class)

S5.1
Explain clearly what economists mean by "adverse selection" in insurance markets. What is the fundamental reason that can give rise to problems of adverse selection? What implications does adverse selection have for the availability and terms of insurance policies offered in a private insurance market?

S5.2
Explain clearly what economists mean by "moral hazard" in insurance. Give an example of moral hazard in relation to property (house contents) insurance, and an example in relation to private insurance against unemployment. Give an example of a mechanism used in private insurance policies try to limit the insurer's exposure to moral hazard.

S5.3
What is a principal agent relationship? Suggest two examples of principal agent relationships (different from those given in the lecture), and explain how in each case the principal may have difficulty in ensuring that the agent carries out the principal's intentions. What methods might be used by the principal to limit the extent of post-contractual opportunism by the agent in your examples? 

Tutorial class 6: Income redistribution

Short-answer questions (for preparation before the class)

S6.1
Define and distinguish clearly between the terms "poverty" and "inequality". Illustrate your discussion with an example of a redistributive policy that would reduce inequality, but which would have little or no impact on the extent of poverty.

S6.2
Explain how the Lorenz curve and Gini coefficient can be used to characterise the level of economic inequality in a country. Using Figure 5 on page 43 of the Economics Trends paper by Caroline Lakin discussed in the lecture, describe how the extent of economic inequality changed in the UK over the period 1978 to 2000.

S6.3
Explain the difference between "current income" and "lifetime income" perspectives on income redistribution.  

Tutorial class 7: Hazards, liability, tort

Short-answer questions (for preparation before the class)

S7.1
Using a diagram of precautionary costs and expected accident costs from a hazardous activity, discuss how the socially-optimal level of precautionary expenditure may be defined.

S7.2
 Define what is meant by systems of legal liability based on (a) strict liability and (b) "negligence", and explain under what conditions each of these systems would be expected to lead to efficient decisions about the level of precautionary expenditure by those responsible for hazardous activities.

S7.3
what limitations are there in relying on legal liability as a mechanism to ensure socially-efficient regulation of hazardous activities?  

Tutorial class 8: Taxation

Short-answer questions (for preparation before the class)

S8.1
Explain the difference between the "formal;" and effective" incidence of a tax, and give (and explain) two examples of taxes where you would expect that the effective incidence might differ substantially from the formal incidence.

S8.2
Define what is meant by "progressive" and "regressive" taxation. Give three examples of ways in which different taxes within the tax system might be made more progressive, or less regressive.

S8.3
Explain how the "taper rate" for means-tested welfare benefits may affect (a) labour supply incentives, (b) the overall public expenditure cost, and (c) the targeting efficiency of assistance?
Essay titles

E1
"If economic theory is to be believed, a country would gain from unilateral abolition of its trade protection, even if its trade partners were to retain their trade protection measures. The notion that countries therefore need to negotiate the abolition of tariffs and other trade barriers appears, therefore, to rest on a fundamental misconception. In such a negotiation, countries are offering to do nothing more than to refrain from shooting themselves in the foot." 


Explain the economic reasoning that lies behind this argument. To what extent can you find reasons to explain the hard bargaining that goes on in trade negotiations, despite this argument?

E2
Explain carefully how (a) the number of pollution "victims", (b) asymmetry of information between polluters and victims, and (c) costs of negotiation might each undermine the effectiveness of the Coase Theorem as a mechanism for achieving efficient pollution abatement. Does this leave any circumstances in which the Coase theorem might work? 

E3
Evaluate the strengths and weaknesses of employing a Pigouvian tax, as opposed to conventional "Command-and-Control" regulation, to control polluting emissions.

E4
Explain how techniques of economic valuation might be used to conduct a cost-benefit analysis to help policy-makers decide how much to spend on improving railway safety. How far - if at all - do you think public decisions on railway safety would be improved if such an analysis was used to inform decision-making?
E5
In recent years there has been a shift back to principles of legal liability for accident damages based on "strict liability" rather than "negligence". What advantages and disadvantages are there of making decisions about liability based on strict liability rather than negligence?
E6
What are the consequences of "means-testing" welfare support? How far can "means tests" be used to target assistance to those most in need, without undermining the incentive for individuals to seek to escape poverty through their own efforts?   

E7
"Governments should be concerned with the redistribution of income between rich and poor, but not with the redistribution of consumption over the life cycle." Does the UK social security system conform to this principle? Should it?

E8
Should the redistribution and insurance functions of the social security system be separated?

In addition, any of the "questions for discussion" listed in the course outline document may be selected as an essay title.
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